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Please check that this question paper contains 15 printed pages.

Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

Please check that this question paper contains 27 questions.
Please write down the Serial Number of the question before
attempting it.

15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer
on the answer-book during this period.
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(i)

(ii)

(i11)

(iv)

(v)

(vi)

(vii)

(viii)

34 J97-Y7 %1 Giel Y777, 3, &, G, ¢ 3N T H FieT T 8 | 3719l @4t 9rn &
o] & IR forad & |

aut g7 sfHar & )

YT &, &, 7 IR T & Jo9] A SaRe® 597 I T 8

YT 37 & Y97 G&IT 1 3K 2 TH-TF 3% & Y97 & | 398 I U Ieg 7Ial
TH FET H e E |

T F & J97 G&IT3 & 5 31-31 37hl & F97 & | 579 I TTHT 30 Vo] Tdh
F378 1

YT G & Y97 &I 6 G 15 FH-T7 3H] & J97 & | 398 F T 50 Fee]
JdH G 7 8 |

YT 7 & J97 G 16 G 21 ia-9ie 371 & J97 & | §4% IR TTHT 70 Jed]
Jdb § 378/

YT T 3 Y97 G&IT 22 G 27 FINTIHF FHI9eT T SR -2 371 & J97 8 |

5% G I T 8/

General Instructions :

(i)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)

(viii)

The question paper comprises five Sections, A, B, C, D and E. You are to
attempt All the sections.

All questions are compulsory.
Internal choice is given in Sections B, C, D and E.

Questions number 1 and 2 in Section A are one-mark questions. They are
to be answered in one word or in one sentence.

Questions number 3 to 5 in Section B are two-marks questions. These are
to be answered in about 30 words each.

Questions number 6 to 15 in Section C are three-marks questions. These
are to be answered in about 50 words each.

Questions number 16 to 21 in Section D are five-marks questions. These
are to be answered in about 70 words each.

Questions number 22 to 27 in Section E are based on practical skills.
Each question is a two-marks question. These are to be answered in brief.
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SECTION A
1.  3fe foreft =mas & @ 40 W fawe=r 5 V 3 368 Jaifgd 9’1 0.2 AR, a1 58
ITeTeh b1 Ifay fehdaT 8 2 1

If the potential difference across the two ends of a conductor is 5 V and
the current through it is 0-2 A, then what is the resistance of the
conductor ?

2. YRR Siferd S T Y@ Tehe TaRam | 1

Write the major hazard of nuclear power generation.

o
SECTION B

3. 3T g % gd i AR G&I Ay ¥ foieh foen # armafaa foreft wepmer foptor <6
TEIEY qafad fRtor o1 99 geri+ o fow mmifera fopor om@ Eifut | 39 @
YA IV 3R G hiv 3ifehd HiforT | 2

Draw a labelled ray diagram to show the path of the reflected ray
corresponding to the ray which is incident obliquely to the principal axis,
towards the pole of a convex mirror. Mark the angle of incidence and
angle of reflection on it.

4. Tt fogq di &1 =0 fag@a g 2 39 oW &1 3g@ iV et I
forell b & | oo gRraTg 9teres W ARifud st st foen fagifa &@ o
foRe ST 7 | 2

What is the principle of an electric motor ? State the rule which is applied
to determine the direction of force experienced by a current carrying
conductor when kept in a magnetic field.

5. & o T H IURUT A I AW N 3HHR THAH ¥ foafan | =i
e T EH arel! Hiet & A a1 Jmr iy off dfvw | 2
arera

forel ®= 3 @ g sl | (1) T H Topwl 370t 1 q (i) g W ToRdT &R =t
foem s, W 98 3 Aol W aed @ a T AR fofend 9w ot
TR H I9@ed T@l 8 | Jfk oFi @ fooem TEE 8, 9 8¢
(a) BRI 3 (b) B = 1 ITMT Hh 3 gHT [IaeHl & &=
favea form whm M 2 2
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Name the acid present in ant sting and give its chemical formula. Also

give the common method to get relief from the discomfort caused by the
ant sting.

OR

A student prepared solutions of (i) an acid and (ii) a base in two separate
beakers but forgot to label the solutions and litmus paper is not available
in the laboratory. Since both the solutions are colourless, how will he
distinguish between the two using (a) phenolphthalein and (b) methyl

orange ?
qam e
SECTION C
6. ITER J@ fohd Hed & ? Trel WG § ol JaTE THiGRIh i 8ial & ?
gfareq sare i |
AYAT

(a) TSI I ol Ih KA (TF) T&T § & Fi T &1 AT, ?
(b) TG & YH: <Y hl o1 H 3T J: ITAN Ig i 8 ?
What is a food chain ? Why is the flow of energy in an ecosystem
unidirectional ? Explain briefly.
OR

(a)  Why should National Parks be allowed to remain in their pristine
form ?

(b)  Why is reuse of materials better than recycling ?

7. 99 58 %ad 2 2 98 S S % 3 Y@ A1 R q gl Sl g ST |

What is a dam ? List two main advantages and two ill effects of
constructing a big dam.

8. (a) YW H 3UfEYA T A g Hdhi & M fARgu | Jei & F3ad T 1A
IEXd T(d & fohe SRR JolsT HLdl § ?
(b) AT T foh F=qedi T o § UIGU i IHofl ohl HTETIhATE HH
ERUECIRS
(a)  Write two water conducting tissues present in plants. How does
water enter continuously into the root xylem ?

(b) Explain why plants have low energy needs as compared to
animals.

31/5/3 4
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9. “TfEremt a3 R gEMAT 93 a1 fUdet AHal § e 3t 9999 1 i hid
3 1” 31 ®Y 6 gfee hifsr | 3

“Nervous and hormonal systems together perform the function of control
and coordination in human beings.” Justify the statement.

10.  STgafarh! s uftarer foRa | srel o den § @A SgafiRdr % gieehi
¥ foar o fawa =i 3 2 @& | smen Fif | 3
Define genetics. Why is decrease in the number of surviving tigers a
cause of concern from the point of view of genetics ? Explain briefly.

11.  Torelt 315k e et § g Howhe & 2 g Tsheeatl =l T o T B |

(a) Toregl g1 Jeaoli <ht T=f ST |

(b) BH gt TErEfe srfifshar @ yer fafEe |

(c)  Afufspan =1 Tgferd Ta@e TRt fafgw i o aTel 3cdTgl 1

T fafeT | 3
AT

M g e foran g fop e fopeht = few § i wiset (3pot) T feRe
SITAT &, 1 SIo < YIS o WaTH X I68 T Torelt et gered shl wd & et

2
(a)  IG kIl U A &9 AT 2

(b) I8 oA Ut T 7 ?
(¢) B greit srfifsran w1 qEmfes getest fafa |
(d) IS8 W 1 39 el W I ThE ThR T gt foram ST dehat @ 2 3

2 g of ferrous sulphate crystals are heated in a dry boiling tube.

(a)  List any two observations.
(b)  Name the type of chemical reaction taking place.
(c) Write balanced chemical equation for the reaction and name the
products formed.
OR
You might have noted that when copper powder is heated in a china dish,
the reddish brown surface of copper powder becomes coated with a black
substance.
(a)  Why has this black substance formed ?
(b)  What is this black substance ?
(c) Write the chemical equation of the reaction that takes place.
(d) How can the black coating on the surface be turned reddish
brown ?

31/5/3 | 5 P.T.0.
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12. Wifsay gRgieass & Fmin & foe 3w g areft foreft ofenfies fskanm o
JUICATE o ¥ H IS 19 A’ Sl @ | I8 19 A’ b Tt | Safifshan e
IS A B’ sHT B, S W I H foleH w1 & &9 § 39 811 & |
‘A’ 3R B’ i gga HIfT | g9 el rfufspanedi & wamtes wier off
T |

In an industrial process used for the manufacture of sodium hydroxide, a
gas ‘A’ is formed as a by-product. The gas ‘A’ reacts with lime water to
give a compound ‘B’ which is used as a bleaching agent in the chemical
industry. Identify ‘A’ and ‘B’. Also give the chemical equations of the
reactions involved.

13. I3 ITIEH T TEGIFAIh 3TF oh |1 ATUHAT Hieh el JEggTae Icddl il
2 | Toh 3T Afed 39 YRR F 3%k 1 AW fafew | qug e @ ug w6l
T S o T fR-foh =N I STEwIshdm BT ? 39 Wik § HfEHTerd
srfufshaneti & TamEfe e ot fafae |

An ore on treatment with dilute hydrochloric acid produces brisk
effervescence. Name the type of ore with one example. What steps will be
required to obtain metal from the enriched ore ? Also write the chemical
equations for the reactions involved in the process.

14. %{:ﬁmmﬁm@ 20 cm 2 | 39 U9 9§ 4 cm A ford) farg =1
fopaft gt W T fop IgeRT wldfeors qdor € 30 em @ W &4 | &4 a7l Widfors
=1 Trsy +ft uftepfora hifsm |

AT

foret 3t oi| gra fopeft forrel =1 ©fF & 12 cm @0 W W 9TH W 36k forel
TS 1 2/3 AT, ATEdfes Jdfes Sd1 8 | <9 31 Blehd gl Fd T |

A concave mirror has a focal length of 20 cm. At what distance from the
mirror should a 4 cm tall object be placed so that it forms an image at a
distance of 30 cm from the mirror ? Also calculate the size of the image
formed.

OR

A real image 2/3d of the size of an object is formed by a convex lens when
the object is at a distance of 12 cm from it. Find the focal length of the
lens.

31/5/3 5
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15. fou U oM@ # e &9 W@ ol Wi g | IS B 98 *Ed § {6
fag ‘A W greshlg &7 fomg B’ 1 qoT H Al U9 8 | 36 % i g
HIRT | 39 3@ 1 3w I gfegert W Eifw R greh & st 6
feam sifea Hifvw | 3

Magnetic field lines are shown in the given diagram. A student makes a
statement that the magnetic field at ‘A’ is stronger than at ‘B’. Justify

this statement. Also redraw the diagram and mark the direction of

magnetic field lines.

16. (a)

(b)

(a)

(b)
(c)

31/5/3 |

W 3
SECTION D

AT 3R S o sfie fave hifve | foret gou o6 fvea W o
3R 3cUTE T 3gW iU |
ffiad AT 1 gAY Siepet 1 AR 3T T :
afceht, dfdepl, VST, WG IHH 5
3AYAT

A HIeT o S dF 1 3T Wifue 3R Ffafgd W st Amiiehd
i

(i) 9% 9 St 3I0E 37U Ll 7 |

(i) o8 WO SRl o= B g |

ik F=X0l GRI B et &l Starul-sffaa Wi shl e S918Y |

mif e JiraT w1 it & 2 aa g mifRies IR Sl ST %

Tl R ST | 5

7 P.T.O.
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17.

18.

(a)

(b)

(a)

(b)
(c)

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

Distinguish between cross-pollination and self-pollination. Mention
the site and product of fertilization in a flower.

Draw labelled diagram of a pistil showing the following parts :
Stigma, Style, Ovary, Female germ cell

OR

Draw a diagram of human female reproductive system and label
the parts :

) which produce an egg.
(i1)  where fertilization takes place.

List two bacterial diseases which are transmitted sexually.

What are contraceptive devices ? Give two reasons for adopting
contraceptive devices in humans.

Tafd § TR T HIGT el gRI AT INTEH H e hl wrfigr) ford
TehR giHfraa &t STt 7 2 samean Hife |

T geell W Sgal | fafagar are S 37eh g # i fafagar 1 g
3T tar B 2 A9 T & T # 3t fag=mr i |

How is equal genetic contribution of male and female parents
ensured in the progeny ? Explain.

Does the occurrence of diversity of animals on Earth suggest their
diverse ancestry also ? Discuss this point in the light of evolution.

5 cm 1 B3 fom 20 cm BIR g TR 3T oF % &I J§ W
Y o e W@ 2 | ford 1 8 | gl 30 cm B | S ATt WS
=t feufa, wpfa 3Tk @mes Fma HIT |

Ifad YR o T weerer fRwr sm@ Eifuw qon 3wd fer g,
ikifersl g o B gl AHIhd SHIMT |

A 5 cm tall object is placed perpendicular to the principal axis of a
convex lens of focal length 20 cm. The distance of the object from
the lens is 30 cm. Find the position, nature and size of the image
formed.

Draw a labelled ray diagram showing object distance, image
distance and focal length in the above case.
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19. = feu mu gfwen #, g uiwy ®, 2 Q gfaUys grir 3w <h T wifeaat

I AT HINT 5
1Q
1Q 2Q

20

+I}_MT +|}_{.—

| ! 1]

6V 4V
A B

AT

forelt Sca T 1A 40 W; 220 VB | 39 Sed @l 220 V 3fd & Gifod
T W Fod gRT1 ol T 9 I FISY | sod w1 gty off s s | afe
30 dcd Sl 25 W; 220 V TIHATH o fohell dea g Sfaeenfud &t <, al 9
3R wfeier <6 AT | R gfted= T 2 319 I <l SR Ffgd gfte Hifve ofi
BN It Iiadqt =t i Hifse | 5

Compare the power used in 2 Q resistor in each of the following circuits :

1Q

1Q 2Q
AA%Y VWV

OR

A bulb is rated 40 W; 220 V. Find the current drawn by it, when it is
connected to a 220 V supply. Also find its resistance. If the given bulb is
replaced by a bulb of rating 25 W; 220 V, will there be any change in the
value of current and resistance ? Justify your answer and determine the
change.

31/5/3 | 9 P.T.0.
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20.

(a)
(b)
(c)
(d)
(e)

TR SRHTH 3 F 9 T o el W anuth frefafad st % 3w G

39 T sl AW ToAfgn fegeh! amm] Bsan 999 31 2 |

39 a1 AW fafae fSeeh gasenar g9 s1fues 2

39 a1 A faRge St 3uwrg 2 |

39 I 1 91 foafgn i watfes afod 2 |

39 ik 1 THES 3 [ARay S 9] T 6 N 8 o dqwdll i
TR AfsRaT g &9t 8 |

Answer the following questions based on the elements with atomic
number 3 to 9 :

(a)
(b)
(c)
(d)
(e)

21. (a)

(b)

(a)
(b)

(c)

(a)

(b)

31/5/3

Name the element with smallest atomic radius.
Name the element which shows maximum valency.
Name the element which is a metalloid.

Name the element which is most electropositive.

Write the chemical formula of the compound formed when the
elements of atomic number 6 and 8 react together.

HIuT e for wEr o=t @ T e 9 a1 C4+ 9§91 FehdT @ 3 A
B C4- RO 1 Hohal 8, Trg Tes! &g SHIAT 8 | SEeh] AT
H o forw oft wrwr e fop gggsh Aifes
() fagd & Femers w0 8 & qun
(i) 37 Rl & TeTH IR FIUH 1 F4i B 8 |
I (CgHg) 1 T g foflaw |
AYAT
‘Turee’ e <l gftumsT fafiau |
Tl ARl 1 FHH 3Tfias §F CgHgO & | 39 gHi Alfiehi o A 3R
AT ¥ ffew |
a1 frfafaa afada fora yehr =i
i) A B uefl o
(i)  TUATA I TUATES 3T |
State the reason why carbon can neither form C4+ cations nor

C#4- anions, but forms covalent bonds. Also state reasons to explain
why covalent compounds

1) are bad conductors of electricity.
(i)  have low melting and boiling points.

Write the structural formula of benzene, CgHg.
OR

10
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(a) Define the term ‘isomer’.

(b)  Two compounds have same molecular formula C3HgO. Write the
name of these compounds and their structural formula.

(c) How would you bring the following conversions :
(1) Ethanol to ethene
(i1)  Propanol to propanoic acid

T T
SECTION E

22. s T3 U B HI, HIE IqA GH 9 s Fddd <9ul, fTH TI Al
B U 20 cm 7, Soht 3T TRl gy foray o1 Ufdlerrs STod otk 39 QM1 ohl
HIRE GRET A A % T8 Fed B | 98 o feet gew 9@ o foma i wifa
IHINT ek, TRI-TRI 8 39 Floaal g fpet 9 W g&1 1 digor gfdfers sred
AT 2 | 3 QHI T H A8/ 3R UG o &= ol AT dy AR dy 31 ek
TeTEY Gl deur fafers g
(a) (20 cm, 40 cm) 3T (FHiem T =i
(b) (20 cm, 40 cm) 3R (3T A 3e)

(c) (20 cm, 20 cm) R (I 3N 3een)
(d) (20 cm, 40 cm) 3R (FigT 3T 3ee)

39 I o AT s G | 2

A teacher gives a convex lens and a concave mirror of focal length of
20 cm each to his student and asks him to find their focal lengths by
obtaining the image of a distant object. The student uses a distant tree as
the object and obtains its sharp image, one by one, on a screen. The
distances d; and dg between the lens/mirror and the screen in the two
cases and the nature of their respective sharp images are likely to be

(a) (20 cm, 40 cm) and (erect and erect)

(b) (20 cm, 40 cm) and (inverted and inverted)
(c) (20 cm, 20 cm) and (inverted and inverted)
(d) (20 cm, 40 cm) and (erect and inverted)

Give reason for your answer.

31/5/3 | 11 P.T.0.
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23. o fucfiuier 3t diceHier =1 3w Tl foram ST @1 8 9« fowmmasen | sahl
oAl i feufa si@ A # ST S8R € | 99 *is B 31 ol 1 3T
Torell T § T TET &, A Skl gt bl fefa @ B H SR IER 7 | 9
3R dicedl o I T&l AT ol [y o S8 39 313 &l 319 ufehed |
TN AT AMMRT |

I A IR@ B

HAAT

foreft gfaass @ veifga o (D) A 38 fdligss & 90 | fave=m (V) ®
o 1 31eEH H % T § R B 9 i@ # @it STER I TN
e |

G) I8 U fawearm g < Fvfar & fawa 9 = fafa swar g 2

(i) & Yfdlgs & 0 W fowerw 2.5 V 3, 9 398 Yaied 9

I |
T 0-4+
0-3t
IA)
0-2+
0-11
1 2 3 4
v (Eﬁ?(f) —

31/5/3 12
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The rest position of the needles in a milliammeter and voltmeter, not in
use, are as shown in Figure A. When a student uses these instruments in
his experiment, the readings of the needles are in the positions shown in

Figure B. Determine the correct values of current and voltage the student
should use in his calculations.

Figure A Figure B

OR

In the experiment to study the dependence of current (I) on the potential
difference (V) across a resistor, a student obtained a graph as shown.

1) What does the graph depict about the dependence of current on the
potential difference ?

(i1))  Find the current that flows through the resistor when the potential
difference across it is 2-5 V.

T 0-4+

0-3t1
IA)
0-2¢1

0-11

1 2 3 4
V (volts) —

31/5/3 | 13 P.T.0.
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24, U % SIS o YU & AAfIRad T Rl gurie o fore amifeRd om@ it
AYAT

foret BT 3 T3S W 3Afeh S g areft TR Torge 1 e for | 39

Toreneff gro fopu @ Jeqont w1 3t vH O IR M@ Wifww | 39 S A
gfshat &1 9 off fafgu |

Draw labelled diagram to show the following parts in an embryo of a pea

seed :

Cotyledon, Plumule, Radical

OR

A student observed a permanent slide showing asexual reproduction in
Hydra. Draw labelled diagram in proper sequence of the observations
that must have been made by the student. Name the process of

reproduction also.

25. ‘g < & forw fore) oxft & foctes 1 STEemht st duR e, YA H
fromeia 3T Ak =1 ST fomam STTaT B | 39 gal 1 ST e TR o= TR
ST 8 2 ST Shifvie |

In the experiment “To prepare a temporary mount of a leaf peel to show

stomata”, glycerine and safranin are used. When and why are these two
liquids used ? Explain.

26. AT 59 B Gtk oo # {6 & T STa 9 319 =1 Y&J01 vl 2 3794 I
& fau s A |

What would you observe on adding zinc granules to freshly prepared

ferrous sulphate solution ? Give reason for your answer.

27. A foeHE YW & uF g TRl It <l Iufedrfa w1 gfieor ford g TR
7T 8 2

AT

31/5/3 14
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UHifesh T S TUIGHT HT HLRA HA b [T ThH BT HIg TAN H G 7
Freafafaa ge &1 3w G
(i)  hIS SEIATFES I hid o fou UHifesr 37 0 fa™ I 91t yered
&1 AW fafegn |
(i)  eAfufsrn & faw weg vamfTes adfter G |
(i) SR H CO, 18 1 g 98 fohd Tehr T ?
How is the presence of an acid tested with a strip of red litmus paper ?
OR

A student is performing an experiment to study the properties of acetic
acid. Answer the following questions :

1) Name the substance he must add to acetic acid to produce carbon
dioxide.

(i1))  Give the relevant chemical equation for the reaction.

(iii) How would he test CO9 gas in the laboratory ?

31/5/3 | 15



